Stat 1350, Confidence Intervals I, Spring 2014 Name Ké, \[/

Instructions, for each of the studies below, find the 95% confidence in;lterval using the quick method, and

then interpret the result in the context of the problem. |

1. Arecent Gallup Poll asked, “What is your favorite Summer Olyimpics event?” Of the people

asked, 27% said ’swimming."wemeqs-o/é ; ﬁﬁ | ~_m h | |

behpeor. 2384% MJL &D:/b?o 4 Aweiicans b Wﬂ;\%
&0 MRak &M i@d’ |

G \[_]ﬁ* =2 (.2}--~(-[5ﬁ , r & '\'/(r.;\)

i(ﬂ looo‘ Hom (-2%8‘1, _wé)
S 031
2. Do doctors in managed care plans give less charity care? Reseérchers chose 60 communities at
random, then chose doctors at random in each community. ln!all, they interviewed 10,881
doctors. Overall, 77.3% of the doctors said they had given somie care free or at reduced rates

because of the paltient's financial need in the month before the interview. Doctors who

received at least 2?5% of their practice income from managed cz%lre plans were significantly less

likely than other doctors to provide charity care.
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3. “Congress passed ]l;':l ban on the sale of assault weapons. Now there is a move to repeal that ban.
Do you agree that the ban on sale of assault weapons should be repealed?” You ask that

question to an SRS of 1000 adults in Texas (population 18 millioﬁm people) and to a separate SRS
of 1000 adults in Indiana (population 5.7 million people). You m;akee 95% confidence statements
about the percents of all adults in both states who agree.
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4. A Gallup Poll ask
45 occupations.
high” or “high.”
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5. Alocal planning commission is interested in findin

g out what proportion of its city’s residents
are opposed to constructing a new baseball

of 1870 residents i
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6. Suppose that you are told that we are 95%
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e formula for the quick method and solve

stadium in the downtown area. A random sample

s obtained, and 41.2% of them are opposed ito the stadium.

(412- 0231, . 124.003) = ( 38%9,. 4351)
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sure that between 25.69% and 38.4% of Americans

consistently identify with the Republicaril Party according to a recent
uestion about party

b!tain the resulting confidence
rval: this is the statistic from the
ftﬁe interval is the margin of error.
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